ASCIl Code

Dec Hex Char Dec Hex Char Dec Hex Char Dec Hex Char
O o0 Mul 32 20 Space 64 40 [ 95 &0
1 01 Ztart of heading 33 21 ! 6> 41 A 87 681 a
2 02  Start of text 3q 22 ¢ 66 42 B 98 62 b
3 03 Endoftext 35 Z3 # 67 43 98 63 o
4 04 Endof transmit 36 24 % 63 44 D 100 64 d
S 05 Enguiry 37 25 3 62 45 E 101 85 e
6 08 Acknowledge 38 26 & 70O 45 F 102 e85 £
707 Audible bell 38 27 ! 7147 G 103 a7 g
8 08 DBackspace 40 23 [ 72 48 H 104 68 h
9 02 Horizontal tak 41 29 ) 73 49 I 105 89 i
10 D0A Line feed 4s 2A F 73 gqhA J 106 64 ]
11 O0OF “erticaltah 33 2B + 75 4B K 107 6B k
12 0C  Form feed 34  2C 76 4C L 1058 sC 1
13 0D  Carriage return 45 ZD - 774D M 109 6D m
14 O0OE Zhift out 346 ZE . 78 4E N 110 B6E n
15 O0OF Zhittin 47 2F [/ 72 4F 0O 111 &F o
16 10 Datalink escape 45 30 0O g0 5O P 112 70 np
17 11 Device contral 1 49 3531 1 g1 51 @Q 113 71 g
18 12 Device contral 2 sao 32 2 g2 52 R 114 72 «r
18 13 Device contral 3 51 33 3 83 53 3 115 73 =
20 14 Device control 4 52 34 4 g4 &4 T 1ie 74 ¢
21 15 Neq.acknowledge 23 35 5 a5 55 [ 117 75 u
22 1o ZSynchronous idle 54 36 6 g6 S8 W 118 76 W
23 17 Endtransz. block 55 37 7 g7 &7 W 119 77 w
24 15 Cancel S6 3§ § g8 58 X 120 7§ =
25 19 Endof medium 57 39 9 g2 59 ¥ 121 79 v
26 1A Substitution 58  SA a0 S5A 2 122 A =
27 1B Escape 59 3B 81 &E&B [ 1253 7B |
28 1C  File separator 60 3IC < 92  5C N 124  7C |
29 1D Group separator 6l 3D = 93 5D ] 125 7D 1}
30 1E Record separatar 62 3E = 24 &5§E -~ 126 7WE -~
31 1F Unit separator 63 3F 72 85 &5F 127 TF O




Extended ASCIl code

Dec Hex Char Dec Hex Char Dec Hex Char Dec Hex Char
128 80 ¢ 160 A0 & 12z o L 224 EO0 w
129 81 i 161 A1 1 193 c1 L Z25 E1 &
130 gz & 162 AZ & 194 ©C2 T Z26 Ez T
131 83 & 163 A3 1 195 ©3 } z27 E3 @
132 84 & 164 A4 # 196 4 — 228 E4 %
133 85 a 165 A5 N 127 ©5 + 229 E5 o
134 &6 & 166 A 2 195 6 F 230 E& n
135 87 ¢ 167 A7 ° 198 7 | 23l E7 1
136 8§ & 168 A8 ¢ zoo s L Z3Zz E& @
137 89 & 162 A9 -~ Z01 ©C9 | 233 E9 @
138 84 & 170 zoz ca i 234 EA O
139 8B 1 171 203 CB 5 235 EBE &
140 8C 1 172 z04 cCo |k Z23i6 EC o
141 8D i 173 Z05 D = 237 ED =
14z GE A 174 z06 CE 4 238 EE ¢
143 &F A 175 z07 CF £ Z32 EF 1
144 90 E 176 208 Do L z40 FO =
145 921 = 177 z02 D1 = z41 F1 =
146 92 E 176 Bz B 210 D2 g z4z Fz =z
147 93 & 172 B3 | z11 D3 L z43 F3 =
14 94 0o 10 B4 z1z D4 k 244 F4 |
142 95 o 151 B5 A 213 D5 F z45 F5 |
150 96 1 182 Ee 214 D6 z46 F& =
151 97 1 183 B7 g 215 D7 247 F7 =
152 98 ¥ 154 B8 3 z16 D& + z4g F& °
153 929 O 185 B9 z17 D9 A z49 F9 =
154 9A U 186  Ba | z21s DA 250 FA
155 9B = 187 BE 3 z1i2 DE |} 251 FEBE ¥
156 9C &£ iz  BC 4 220 DO m 25z FC =
157 9D ¥ 152 EBD I zz1 DD | 253 FD =
158 9E E i30 BE A zzz DE | 54 FE H
152 9F f 191 BF zz3 DpF W 255 FF O




